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(1) 4 (2 a - 5 b)
(2) 18 x 3y 2+ (— 3 x y)
3 -8 a 2 b ~(—4a %) ~2a b
(4) (-2 a + 12 b)) = (-4)
(5) 3 (2 x - 3 y) + 4 (2 x - 5 y)
(6)
(— 2 x y * 8 y ) ~ (- — )
(7) 2 ‘ ) 2
12 x y = ( 3 X y )
(8)
— (10 a - 20 b ) ——(16 a - 24 b )
9) 3 a - b a - b
_|_
8 2
(10) 4 x - y = X - 3 y
3 4

R CEx T EE 7Y b
http://chugaku. manabihiroba. net/ 1



KOFHH W DFHEL-3

fig 2

1. (1) 8 a - 20 b
(2) ) x 2 y
(3) -8 a 2 b X 1

a
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(5) 6 x - 9 y + 8 x - 20 y
= 14 x - 29 y
(6) 3
(—2xy+8y)><(__)
2
=3xy—12y
(7) 2 3
12xy X ( - 2)
2Xy
. 18 vy
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(8) 2 a - 4 b - 2 a 4+ 3 b
= - b
9) (3 a - b) 4 ( a - b))
_|_
8 8
3 . a - b + 4 a - 4 b
8
7 a - 5 b
8
(10) 4(4x—y)—3(x—3y)
12 12
~ 16 x - 4 —3x+9y
12
B x + 5y
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